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SPACE FOR ROUGH WORK 
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1. 	Match List I with List II and select the correct answer 

List I (Lok Sabha Elections) List II (Year) 

(a) 	Sixth General Elections 1. 1991 

(b) 	Tenth General Elections 2. 1998 

(c) 	Twelfth General Elections 3. 2004 

(d) 	Fourteenth General Elections 4. 1977 

(a) 	(b) 	(c) 	(d) 

(A)1 	2 	3 	4 

(B) 	4 	1 	3 	2 

1 	2 	3 

(D) 	1 	4 	3 	2 

I - 	II— 	Qu 	r1ui 	uj GpftGq Qffu 

uiqu€b I (wru 	Co) uLub II (() 

(a) cb 1FUj Qurr 1. 1991 

• 	 b) uoprrQjgj 	• 2. 1998 

• 	 (c) u€QnjrQJ] Quff 	frothr 3. • 2004 

(d) uO6arr6T&rrQjgj Qurr 4. 1977 

(a) 	(b) • 	 (c) 	(d) 

(A) 1 	2 	3 	4 

(B) 4 	1 	3 	2 

(C) 4 	1 	2 	3 

(D) 1 	4 	3 	2 
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2. Which Amendment Act provided for the disqualification of the members of parliament and 

state legislatures on the ground of defection from one, political part to another 

,4/ 521,11  Amendment Act 	 (B) 62 Amendment Act 

(C) 42nd Amendment Act 	 (D) 73rd Amendment Act 

rrub 	t 	 áf 	urr ryrr ~E5Ln&~) Lb LDftnLb Lnrr) 	LLO6T 	U66TF11F GT5 

fAuja)GO LDLJL1 	5LL46T 9 p 	8LD QUJUJUU®rr1rT 

(A) 52 	 (B) 62 	 $Lb 

(C) 	42 	L(!LD 	 (D) 73 

3. Which Article of the Indian Constitution empowers the parliament to legislate on a matter of 

the state list in the national interest? 

(A) 	Article 246 
	

(B) Article 247 

(C) Article 248 
	

NOYO Article 249 

1u 	LDULT 6qGT€1O Grf55 d11 GpAu 15O6T  &00  UffffLDTDLD LDflO ULJUJG) 

P—draT 	 r(j 6Lib 	€orn.b 

(A) 	€246 	 (B) €i247 

(C) G@O 248 	 (D) Q@O249 

4. Which of the following committees is not a standing committee of the parliament? 

(A) Public Accounts Committee 

Consultative Committee to the Ministry of Finance 

(C) Estimates Committee 

(D) Committee on Public undertaking 

rj 

(A) QuffT j 

(B) o$i 

(C) Lo1LL 	( 

(D) Qurr 	 UQTF5J8G1T 
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5. 	Arrange the following states in a descending order of iron ore production and select the 

correct answer using the code given below 

1: Chhattisgarh 

2. Goa 

3. Karnataka 

4. Odissa 

(A) 	3 4 2 1 

	

vor 3412 	-. 	 - 

(C) 4 3 2 1 

(D) 4 1 3 2 

Qiuijthri 	u)L. uuii(l 8lu1rET 	cQaLb 

1. iuth 

2. C&rrQjrr 

3. rrtarr 

4. 94&rr 

(A) 3 4 2 1 

(B) 3 4 1 2 

(C) 432 1 

(D) 4 1 3 2 

	

6. 	Gomathi is the tributary of 

(A) Yamuna 
	

Ganga 

(C) Brahmaputra 
	

(D) Satluj 

c.rLo 	 öT 	TUJ1r? 

(A) 	UJ(PGO6öT 
	

(B) 

(C) 	6IIqLbwL40&rr 
	

(D) 

5 
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7. Which of the following is not a leap year? 

(A) 	800 	 (B) 1200 

(C) 	2000 	 2100 

GÜTL6UØ1th rj £ii 	iii 	ié? 

(A) 	800 	 (B) 1200 

(C) 	2000 	 (D) 2100 

8. One third of, one half of, one fifth of a number is 15. Find the number. 

450 	 (B) 45 

(C) 540 	 (D) 400 

fr GT6&Twfl& yi61b rj ur 	To go u 	 rj u&g15 	 rr 

nr8. 

(A) 450 	 (B) 45 

(C) 	540 	 (D) 400 

9. The sum of four consecutive even integers is 1284. Find the greatest 

(A) 	320 	 (B) 322 

324 	 (D) 326 

	

ii 	1284 ro 	ublb  QuMtu GTek rj? 

(A) 320 	 (B) 322 

(C) 324 	 (D) 326 

10. 696996676979669779667 how many 7's have a6 before and after? 

1 	 (B) 2 

(C) 	3 	 (D)4 

• 

(A) 	1 	 (B)2 

(C) 	3 	 (D) 4 	 • 
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11. A sum of money becomes 1.331 times in 3 years as compound interest. The rate of interest is 

(A) 50% 	. 	 (B) 8% 

(C) 7.5% 0 10% 

9Q, 	 €1$b 1.331 wrr1 	€rrb 	€ut.j 	1th 

(A) 50% 	. 	 (B) 8% 

(C) 	7.5% 	 (D) 10% 

12. The difference between the interest received from two different banks on Rs. 500 for. 2 years, 
is Rs. 2.50. The difference between their rates is 

(A) 	1% 	 (B) 0.5% 

(C) 	2.5% 	 . 	 0.25% 	 - 

uj 500 	, 2 	riflb 	ài 	 rrr €ujrrih Q5. 2.50 rSIb 
€jj 	 LCUUn6oT 61uJrrw 	JOT? 

(A) 	1% 	 (B) 0.5% 

(C) 	2.5% 	 (D) 0.25% 

13. A number of two digits has 3 for its unit's digit and the sum of digits is 1/7 of the number 
itself. Find the number 

(A) 	43 	 (B) 53 

63 	 (D) 73 

• 	 ri 96 	QJJ i wk 	3, 	01 	 r6fib 1/7 WL 

rrà iroT 

(A) 	43 	 . 	(B) 53 

(C) 	63 	 (D) 73 	. 

14. If A:B:C=2:3:4 then A/:B/C:% is equal to 

(A) 4:9:16 	. (B) 8:9:12 

(C) 8:9:16 N OW 8:9:24 

A:B:C=2:3:4 GTallo A/B :B/C :C/A W 

(A) 4:9:16 (B) 8:9:12 

(C) 8:9:16 (D) 8:9:24 

n 	 7 	 LIGS/19 
[Turn over 



	

15. 	In 2010, the population of a town is 1,50,000. If it is increased by 10% in the next year. Find 

the population in 2011 

(A) 2,00,000 

(B) 1,80,000 

1,65,000 

(D) 	1,75,000 

2010—b 	rli wàth Qrr 	1,50,000. 	 10% Qu 	wrrG&rrGb, 2011—b 

1Dá;8GiT QGUJ9 8ff6r8 

(A) 2,00,000 

(B) 1,80,000 

(C) 1,65,000 

(D) 1,75,000 

	

16. 	If the diameter of a bicycle wheel is 63 cm, then the distance covered by its wheel in 

20 revolutions is 

(A) 50rn28cm 

(B) 43m34cm 

(C) 5,1m30cm 

39 m 60 cm 

QlLLib 63 Qu.LS 6r6O, 	j 20 &bI8th 	5l6T 	A(th QfføGI6T 

(A) 50628Q&.L. 

(B) 43 £34 

(C) 5130Q&i. 

(D) 3960Q5.1. 
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17. 	If_=_then find the value of + (2y
X 

	

y 5 	 7 2y+x 

(A) - 
7 

(C) 1 
7 

(D) 2 

x. 	4 	.4 (2y—x"\.
- 6TTUJ - rGiIa) - + 	 I -EDT1DIULI rr 

--y 	5 	7 	2yx) 

(A) 

(B) .1 

(C) 1 

(D) 2 

2+3 

	

18. 	If a and 	b are two non-zero rational numbers and 	= a + b-13, then the value of b is 

(B)7 

(C) 6 

(D)8 

a ww b &luJw Gpj GTdnadT wow2— = a + o3 b-i wuq 

8rTr8. 

(A) 4 

(B) 7 

(C) 6 

(D) 8 

(1 	 . 	 9 	 LIGS/19 
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19. 	Given the language L = (ab, aa, baa), which of the following strings are in L? 

1. abaabaaabaa 

2. aaaabaaaa 

3. baaaaabaaaab 

4. baaaaabaa 

(A) 	1, 2 and 3 	 (B) 2, 3 and 4 

1,2 and 4' 	 (D) 1,3 and 4 

L = (ab, aa, baa) GT&-p Qwrr1uo 	&uo rr 	ftthr L -b 

1. abaabaaabaa 

2. aaaabaaaa 

3. baaaaabaaaab 

4. baaaaabaa 

(A) 	1, 2 LofbILb  3 	 (B) 2, 3 wth 4 

(C) 	1, 2 W1Lb 4 	 (D) 1, 3 wjjth 4 

20. 	How many times do the hands of a clock coincide in a day? 

• 	(A) 	24 	 • 	(B) 20 

(C) 21 	 !22 

go nQ&o ri (pcn irry yT 	Qr€inj 	iuib? 

(A) 24 	 (B) 20 

(C) 	21 	 • 	• (D) 22 

21. 	A rectangular water tank is 8 in high, 6 m long and 2.5 in wide. How many litres of water 
can it hold? 

(A) 	120 litres 	 (B) 1200 litres 

(C) 	12000 litres 	• 	 120000 litres 

8 	ujib, 6 LS fib ioib 2.5 	 Taift Qrru 	ro 	ii 

6r61r Q,rrthib? 

(A) 	1201tiJr 	 (B) 1200 	iJi 

(C) 	12000 6iiJr 	 (D) 120000 €htJr 
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(a) Hindustan Times 

(b) Navajivan 

(c) Independent 

(d) Madras standard 

(a) 	(b) (c) 

f432 

(B) 3 	2 1 

(C) 2 	1 4 

(D) 2 	4 3 

1. Anni Beasant 

2. Motilal Nehru 

3. Gandhi 

4. K.M. Panikkar 

(d) 

I 

4 

3 

1 

22. When Ahmed Shaha Abdali invaded India in 1761, who was the Peshwa of Maratha 
Kingdom? 

(A) Balaji Vishwanath 	 (B) Baji Rao I 

Balaji Baji Rao 	 (D) Baji Rao II 

1761-,Lb 	bT®. 	L 	€I1F ,-iLJ ,ffirra 	 UJ1f€ ki Lggj U@UJ 	urr 	if 

uft uirr? 

(A) 	urr 	rri 	 (B) 
	

(~ppcurub urr1ryrrGiJ 

(C) 	urrorr1 urrrrrj 	 . 	 (D) 
	

çrTLrrLb urrrr€ij 

23. Match the following: 

uub 	Qurr'r. 

(a) &gj&prea i..ibñ 

(b) uui 

(c) @674QurLii 

(d) Qwi 	 iii(i3 

(a) (b) (c) (d) 

(A) 4 3 2 1 

(B) 3 2 1 4 

(C) 2 1 4 3 

(D) 2 •4 3 1 

1. Quit. 

2. Cw 	irro 

3. rr 

4. K.M. uáir 

11 	 LIGS/19 
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24. 	The 'Quit India Movement' started in 

(A) 1930A.D. (B) 1946A.D. 

1942A.D. (D) 1940A.D. 

'Q ru 	Q 	ilCui' 	uJ8Lb Qui 	 rj? 

(A) 1930A.D. (B) 1946A.D. 

(C) 1942A.D. (D) 1940A.D. 

25. The State of Hyderabad was founded by. whom? 

(A) Aurangazeb 

Nizam-Ul-Mulla AsafJah 

(C) Nizam-Sadatullah Khan 

(D) Mir Zafar 

cnWpryrru rr~'  W G 	 urrà1 1LJ6u ft tu rrft? 

(A) rjij 

(B) -o-y 	&nii&3rr 

(C) b-&rrrr 

(D) Lfrrruft 

26. 	The French occupied Madras in 

(A) 	1745A.D. 	 1746A.D. 

(C) 	1750A.D. 	 (D) 1751A.D. 

'Qwirrr' 	 r® Lg Q 	ft .%aurd) 	rGLDLJLj Quj? 

(A) 	1745A.D. 	 (B) 1746A.D. 

Q. 1750 A.D. 	 (D) 1751 A.D. 

LIGS/19 	 12 



	

•27. 	The spectrum produced by a substance in molecular state is known as 

(A) line spectrum 	 (B) continuous spectrum 

band spectrum 	 (D) line and continuous spectra 

orn 	uSTGrr Quff 	 QLiJuLb 	ion 	irr(b. 

(A) 	wrr) 	 (B) Q wrro 

(C) 	u wrr 	 (ID) QA wih Q wrroii 

	

28. 	In a transistor, if the value of a is 0.9 then what is the value of /1? 

9 	 (B) 90 

(C) 	0.9 	 (D) 900  

9(i 	 a -€i WJL 0.9 rrro 8 - 	o1OL rT? 

(A) 	9 	 . 	 (B) 90 

(C) 	0.9 	 (D) 900 

	

29. 	RBI would scrutinise all sanctions of bank loans, this post-sanction scheme is known as 

credit monitoring arrangement 

(B) credit nonitoring advise 

(C) credit monitoring adjustment 

(D) credit monitoring alternation 

6Ui8Tflt) 	LDl86ULL 	TJ 8L 	irui 	uj M&Mj Qir!J40 wiS@  Qiuib 

GöTDL 	LLW 

(A) ub jjiu 

(B) LJ6sT 	u@ftpg 	UJ1) 

(C) aii Qiijo 

(D) wuwo 

13 	 LIGS/19 
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30. 	Total number of beneficiaries, acquired ownership rights due to the land reform legislations 

in India was 

(A) 29lakh 

30.lakh 

(C) 62 lakh 

(D) 32 lakh 

UJflG 	 ( 	 W T &rrgGRTWrT& 	o 	F166LD Qu 	UUJ ,thI6T 

(A) 29tib 

(B) 30oLb 

(C) 62ob 

(D) 32uib 

31. 	Identify the expansion of NIPCCD 

(A) National Institute of Personal Co-operation and Control Division 

(B) National Institute of Permanent Co-ordination and Civil Department 

National Institute of Public C-operation and Child Development 

(D) National Institute of Private Co-operation and Child Development 

'NIPCCD' Gr4tup& €I G 	TL 

(A) National Institute of Personal Co-operation and Control Division 

(B) National Institute of Permanent Co-ordination and Civil Department 

(C) National Institute of Public Co-operation and Child Development 

(D) National Institute of Private Co-ordination and Child Development 

LIGS/19 	 - 	14 



	

32. 	The Government of India constituted a five member Public Sector Disinvestment 

Commission in August 1996. Chairman of the commission was 

(A) C. Rangarajan 

(B) P. Chidambaram 

G.V. Ramakrishna 

(D) C.P. Chandrasekhar 

1996 	ib 	 1u 	rrij, Qu n 	 u€rr OoLbuLj 

Qujih 	 oft ujn? 

(A) C. Ff&&rfrTRdT 

(B) P. 1ibu1b 

(C) G.V. 

(D) C.P. 	C.8fr 

	

33. 	The Gross Foreign Direct Investment inflows to India in 2016-17 at US $. 	 Bn. 

increased significantly from US $ 	 Bn. in 2015-16. 

sie $60.2 Bn. & $55.6 Bn. 

(B) 	$70.5 Bn. & $60.2 Bn. 

(C) 	$75.0 Bn. & $70.5 Bn. 

(D) 	$68.0 Bn. & $65.2 Bn. 

2016-17b 	 ii €u Qwrr 	 p1 iQwrS1M LrrlGb 

2015-16ü 

(A) $60.2 	& $55.6 i. 

(B) $70.5 i1l. & $60.2 

(C) $75.0 t1l. & $70.5 L1G. 

(D) $68.0 6M. & $65.2 ik61. 

15 	 LIGS/19 
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34. 	Which one is an important vector for Plague disease? 

(A) Mosquito 	 (B) Housefly 

Flea 	 (D) Snail 

iK&rá Crrui (9uJ 	rj? 

(A) 	Q&rrai 	 (B) rr 

(C) 	OLc1th1 	 (D) 

35. 	The opening and closing of leaves of Mimosa pudica is due to 

(A) Thermonastic movement 

(B) Photonastic movement 

Seisomonastic movement 

(D) Chemonastic movement 

(wCwff&ff t8n) 6U6T 6O6iT 	WW 1U QffUJ T Quu. 

(A) QQn~ u @5&a ft  

(B) 9ofiprrLL- &A&Lb 

(C) 

(D) Ccu& rrir 

36. 	The wood and bark of conifers have special channels filled with 

(A) 	Latex 	 (B) Oil 

soor Resins 	 (D) Tannins 

o-wA u@GnQ) wiithi 	 wib uiT ft6q Gu6&&dT 	 €urro QryLb69&  

ffTUuc9W. 

(A) 	wiurrb 	 (B) crrQni 

(C) 	I1ãT 	 (D) LJFE€& 
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37. Producer gas is a mixture of 

CO + N 2  

(C) CH4 +CO 

Qjrru4 GTdTugj - 

(A) CO+N 2  

(C). CH 4 +CO 

(B) CO+H2  

(D) CO2  +H2  

Q)6JuJrr(LD. 

(B) CO+H2  

(D) C0 9 +H2  

38. Which of the following is called as Carborundum? 

(A) Boron carbide 

(B) Tungsten carbide 

Silicon carbide 

(D) Aluminium carbide 

-mqdTGrgja;rrkGurrry6kniib ri 

(A) CurrryrrdT 

(B) iñi 

(C) Ac@&&&  

(D) m&6G01LuLb arrfta)Lr@ 

39.. Which country has announced demonetisation of the currencies in year 2016 apart from 

India? 

(A) Vietnam 	 . 	 Venezuela 

(C) Qatar 	. 	 (D) Argentina 

2016 	ujn 	oorrj uu iàib G&Lbp p5rTG)rj? 

(A) 	6ujib 	 (B) Q&urr 

(C) 	rrfr 	 (D) 

17 	 LIGS/19 
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40. Where is the first India's Transgender school situated? 

(A) Chennai 	 (B) Bengaluru 

Kochi 	 (D) Patna 

ujrr€ 	 udmfi Gr&(§,,-4mLo$gjdToTgj? 

(A) 	Q&ii 	 (B) Quirj 

(C) 	Qrr 	 (D) urriur 

41. The book 'Six Machine' is the autobiography of 

(A) Yuvaraj Singh 	 (B) A.B.De. Villiers 

Chris Gayle 	 (D) Virender Shewog 

41h,du Qw6416T'  GTdTM L41D 
	

UGLI6T &UJ&rfig 	Lb- 

(A) 	urrri 
	 (B) 	J.L QSUJflñ) 

(C) 
	

(D) 6C1çr Q€urrà 

42. Which country has become first in the world to use drones for national mail services? 

(A) India 	 Ne France 

(C) Argentina 	 (D) England 

cp1 pé 	rrim uuju9 	 jiiilu prr@ rj? 

(A) 	lun 	 (B) 	61ryrrrh 

(C) 	=qjftQ&3&4mrr 	 (D) 

43. Which Olympic legend has a record haul of 28 medal? 

(A) Boris Shakhlin 	 Michel Phelps 

(C) Pavoo Nurmi 	 (D) Sawao Kato 

rfr 28 Qw 	Qjrj rr€i 	rrrrñ? 

(A) 	Curri 	Qá6i 	 (B) 	wCo OIJ€U 

(C) 	u, jftaS1 	 (D) &rrCGurr 	CLrr 
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44. Where is Forest Research Institute (FRI) located in India? 

(A) Delhi 	 Dehradun 

(C) Kolkatta 	 (D) Ooty 

	

iun&o 	rriith 	ub (FRI) 	 jirrj? 

(A) 	QLb$l 	 (B) 	rrri 

(C) 	QQrrrr 	 (D) 	itq 

45. Which country is known as Land of Midnight Sun? 

(A) England 	 (B) Japan 

Norway 	 (D) Sweden 

	

(UT 	Co ® 

(A) 	 (B) RLiurr&  

(C) 	C 	 (D) 	cki 

46. Maximum Yield of Ammonia in Haber's Process 

	

, 97% 	 (B) 67% 

(C) 47% 	 37% 

ufr 	 Cwu 	 tho 

(A) 97% 	 . 	 (B) 67% 

(C) 47% 	 (D) 37% 

47. Which of the following movies has been chosen as the India's official entry to Oscar 2019? 

(A) Kadvi Hawa 	 (B) Raazi 

Village Rockstars 	 (D) Hichki 

2019 	iñ 	 u 	iuLi 	 Quuir ri? 

(A) 	 urr 	 (B) fjrrA 

(C) 	 rrft 	 (D) 
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48. 	Which of the following pair is wrongly matched? 

(A) National Development council 	- 	 Non-Constitutional body 

(B) National Human Rights Commission - 	 Non-Constitutional body 

Finance Commission 	 - Non-Constitutional body 

(D) Central Bureau of Investigation 	- 	 Non-Constitutional body 

ruorj 	QuffCuLr6rr? 

(A) GpAu er 	 - 	 uio 	pib 	uL 	oi 

(B) Gpgu 	 wthr 	rujth 	- 	 wioarr 	€uith 

(C)
'00 - 	 uw €uub 

(D) 	u1uJ 	rnuii 	 - 	 wi 	othrjiub 

49. 	Which of the following bodies regularly reviewed the progress of the five year plan? 

(A) National Development Council 

)r Planning Commission 

(C) Cabinet Secretariat 

(D) Union Cabinet 

M~p rrek 	 rruii ftcuoub rj? 

(A) (u 	i () QjoTir4A 5U 

(B) L 	oorujd 

(C) G&L96UL Qujoñ 

(D) w1a 	c1it 

50. 	The Niti Aayog is a 

(A) 	Constitutional body 	 (B) Statutory body 

Executive body 	 (D) Sovereign body 

€rTuj 

(A) 	 wwii 	 (B) 	 wiit 

(C) 	Quiu 	unu 	oii 	 (D) @ Gop Go wujrr€i 	oitj 
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51. 	Which one of the following - pair is correctly matched? 

Vohra Committee 	 - 1993 

(B) Indirajit Gupta Committee 	- 1992 

(C) Law Commission 	 - 1997 

(D) Dinesh Goswami Committee - 1994 

)uJrr Quumu? 

(A) GGu rrrrrr 	 - 	1993 

(B) &Ory& (jrr gu 	- 1992 

(C) ruib 	 - 	1997 

(D) OGcaG4 Cqrrua 	 - 	1994 

	

52. 	Which part of the Indian constitution deals with the Panchayat? 

(A) VIII 	 swlo  Ix 

(C)X 	 (D)XI 

1u 	 iii1ã riiu 	u 	jrrCi uujrrib? 

(A) 	VIII 	 (B) IX 

(C) X 	 (D) XI 

	

53. 	Who is called as "Father of all-India Services"? 

Sardar Vallabhai Patel 

(B) Jawaharlal Nehru 

(C) Mahatma Gandhi 

(D) C. Rajagopalachari 

	

uj u 	ftri 	rij Cuüuuift ujnft? 

(A) thrrfrourrti ukGb 

(B) 

(C) rrrnr 9rr 

(D) C. 	Crru 	rri1ujrrr 
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54. 	Which act provided for the setting up of permanent Lok Adalat? 

Legal services Authorities Act, 1987 

(B) 89th  Constitutional Amendment Act 

(C) Nyaya Panchayats Act 

(D) Panchayat Raj Act 

wrrr Corrá 	rru 	ioáe; Qj ~ lucna Qui &L1ib rj? 

(A) &Li tjru urr 	1rr4 &iib, 1987 

(B) 89 	ujiniii 	 átb 

(C) Oui rrui urrujj itib 

(D) urrujj fjrq§ &iiib 

	

55. 	Which of the following is the largest committee of the Parliament? 

(A) Public Accounts Committee 

Estimates Committee 

(C) Public Undertakings Committee 

(D) Petitions Committee 

UffW6bTD 	 thkö iQuu aj 

(A) Gurrgi &mT&C&)&  

(B) 

(C) Qurr 

(D) WJ98GT LSprTaT (9 
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56. Rajiv Gandhi International Airport is located at, 

(A) Bengaluru 	 (B) Srinagar 

(C) Ahmedabad 	 4" Hyderabad 

rr€ii ffl u&GarrL@ QSWffGT JG6UJW 66)WJ5I6TTTT@L—Lb 

(A) 	Quri 	 (B) 

(C) 	wrrurr 	 (D) 	rrrurr 

57. The Headquarters of the South Central Railway is at 

(A) Bangalore 	 (B) Hubli 

(C) Hyderabad 	 Secundrabad 

QiLD1u 	CUU16T 	wu1ith 	wrrr@L-Lb  

(A) 	Qurfi 	 (B) 	-oijth 

(C) 	mWpryrrurr 	 (D) Qrrurr 

58. The soil which is Internationally known as 'tropical chernozem' is 

(A) 	Alluvial soil 	 fiBlack soil 

(C) 	Red soil 	 (D) Laterite soil 

thGuC 	f1QlO "UJ6T Q8IrC6ØTIr6LD" ETJ 	ff,UULD LDT 

(A) 	uno wi 	 (B) 	61ab wi 
(C) 	Q6Lbw 	 (D)ijo w 

59. "The landscape is the function of structure, process and stage", who said this? 

(A) G.K. Gilbert 	 (B) James Hutton 

W.M. Davis 	 (D) Penck 

"Crrth GT&uo Ow 	Quourr@ wjib utju 	u 	uth 	 ujj" 

r6T1 86UJGUff 

(A) 	O.Ga. 916buftL 	 (B) Cbñ 	ii 

(C) 	qurib. ie 	 (D) Qu 

23 	 LIGS/19 
[Turn over 



60. What would be the measure of the diagonal of a square whose area is equal to 882 cm 2? 

(A) 38 cm 	 (B) 32 cm 

42 cm 	 (D) 48 cm 

go &y1i 	882 && 	rlb 	ei 	i1 	iiiq U&6ff? 

(A) 	38Q& 	 (B) 	Q&.LB  

(C) 	42 Q&.i 	 (D) 48 Q&.LB  

61. Tharun makes a deposit of Rs. two lakhs in a bank for 5.years. If the rate of interest is 8% 
per annum. Find .the maturity value at the end of 5 years. 

(A) 	2,20,000 	 2, 80,000 

(C) 	2, 40,000 	 (D) 2,60,000 

Q5urrGmu 5 	 pr 	rEiluo 	 L 	p( 
Q&urr. 	u41 	Qij 	8% 	 ru 5 	9iT 46S1G) 	uá 

Qw 	Qrr 

(A) 	2,20,000 	 (B) 2, 80,000 

(C) 	2, 40,000 	 (D) 2,60,000 

62. If the area of two spheres are in the ratio 1: 4 then the ratio of their volumes is 

(A) 	1:2 	 (B) 1:4 

1:8 	 (D) 1:6 

go -G&rraTrL&afi& 	 1b 1: 4 	€ur,b5r 	rr69i €Lb 

(A) 	1:2 	 (B) 1:4 

(C) 	.1:8 	 (D) 1:6 

63. If x% of y is 100 and y% of z is 200, then the relation between x and z is 

(A) 	z=4x 	 (B) 

-1./ z=  2x 	 (D) z= 

y Gii x% GT6Tuo 100 rib, zbi y% GT67u 1200io x.th z QJri 

(A) 	z = 4x 	 (B) z= 

x 
(C) 	z = 2x 	 (D) •z=- 
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64. The sum of the two numbers is 12 and their product is 35. What is the sum of the reciprocals 

of these numbers? 

( 17 	 (B).5 

(C) 3% 	. 	 (D) P2 

12 LO 	 wbi Quui 35. 	rth 	u1€ 

rrOr 

(A) 	13/ 	
(B) ,3'5 	 . 

(C) 3% 	 (D) %2 

65. Find the missing number 

;5 	6 	 26 	7 	 Z4 	8 

(A) 22 	 (B) 30 

32 	 . .. 	(D) 31 

€il3u t 	rr6orà rrra 

	

Z5 
12 . 6 
	 ;6 

21  7 
	 )4 ? 8 

* 	(A) 	22 
	

(B). .30 

	

• 	(C) .32 
	

(D) 31 
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66. 	Consider the following: 

N 	 _ 

Which one of the following conclusions can be drawn from these figures? 

(A) 	The areas of the three figures are all different 

The areas of all the three figures are equal 

(C) The perimeters of the three figures are equal 

(D) The perimeters of figures I and II are equal 

I. 	

N 	_ 6  

TL 	6thO 6T 	16OU LD6TL U 	6*16T Q)W GT(Q)Lb? 

(A)(p&p uri uurr 	 ij Cujuiri.rr 

(B) 	Uft uir€rii uiuith &LoLorrs P-AmTgj 

(C) 	t$nJi uai 	 ib 6wurr 	rrj 

(D) 	purrib wjbjib 	rLrrLb uLithT 8iD 1tQ 

67. 	Find the L.C.M. of 35 a 2c3b, 42 a 3cb2 , 30 ac 2b3  

(A) 	7 a2b2c2 	 (B) 210 abc 

210 a3c3b3 	 (D) 210 a 2b2c2  

35 a 2c3b, 42 a 3cb 2, 30 ac 2b 3-r 

(A) 	7a2b 2c2 	 (B) 210 abc 

(C) 	210 a3c3b3 	 (D) 210 a 2b2c2  
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68. 	Find the missing number 
9 

117 7 

29 

(A) 	327 
	

(B) 386 

(C) 438 
	

469 

QuLL TT  

9 

117 7 

29 
(A) 327 	 (B) 386 

(C) 438 	 (D) 469 

69. 

	

	The H.C.F. and L.C.M. of two numbers are 50 and 250 respectively. If the first number is 

divided by 2, the quotient is 50. Find the second number 

(A) 	50 	 (B) 100 

125 	 (D) 250 

i1i .Qurr.€u. wib 	 pCu 50 wb 250. Gp, 	kGnmT 2- 6) Gu(5&(5Lb 

CurTgj rrq 50 cro 	iir6uj GTdzTm6w& arrGkr. 

(A) 	50 	 (B) 100 

(C) 	125 	 (D) 250 
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70. 	Which one of the following is correctly matched? 

9' Mohenjadaro 	- 	 Larkana District 

(B) Harappa 	- 	 River Sind 

(C) Lothl 	 - 	 River Ravi 

(D) Kalibangan 	- 	 Gulf of Cambay 

uuao GTgj &CijrT& Qu irr? 

(A) Qwrrrrr 	- 	nr9rrrrr wui.ib 

(B) Wrfiurr 	T 

(C) Corrrrb 	- 	ryrr€icl 15$ 

(D) uri 	- 	rribu irrrr 

71. 	The silver coin rupaya was first issued by 

(A) Sikandar Lodi 

(B) Humayun 

Shershah Sun 

(D) Akbar 

Qejdrofl jrrruib Q5L9Lurr 	p1 (O Qi&ift 

(A) Crn 

(B) oji 

(C) 

(D) ui 

72. 	In which language the original Buddhist religions texts were written? 

(A) 	Sanskrit 	 Pali 

(C) Hindi 	 (D) Tamil 

Iw 	 Qinrr1uo 	Jut L1? 

(A) 	5wñ®th 	 (B) urriS1 

(C) 0 	 (D) 
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73. The first editor of the Journal 'The Servants of India' was 

(A) Motilal Nehru 	 (B) K.M. Panikkar 

V.S. Srinivasa Sastri 	 (D) Annie Besant 

'QuGT 	U 	UJff'  GrgdLb @0& 	 UJ1f 	5T 

(A) 	Cwrrrro Cr 	 (B) K.M. ufl 

(C) 	V.S. 9a9Qjrr& &rrGioOrfi (D) 	iQubm 

74. 'Satyashodak Movement' was started by 

(A) B.R. Ambedkar 	 Jyotibai Phule 

(C) 	Ramakrishna Pillai 	 (D) C.V. Raman Pillai 

'èrr 	uá$o' 	ijfr 

(A) 	B.R. ibuft 	 (B) G&rrourriL  

(C) 	&rrw9OG4mT ithrr 	 (D) C.V. ryffLD64T L96r6naT 

75. Where is 'Camel Festival' organised? 

(A) Jaipur . 	 (B) Jodhpur 

Bikaner (D) Chittoor 

9ffJurr@QuLw 6r J? 

(A) Quii . 	 (B) Crrj,ñ 

(C) ullarrafift (D) 

76. The title. 'India's Bismark' to Sardar Vallabai Patel was given by 

(A) Lord Mountbettan 	 Lord Wawell 

(C) Lord Curzon 	 (D) Lord Lytton 

'rrET l6n)LDff1ra' - Ir 	OUUJ ULLOVETJ 8UJ€Jff 

(A) 	Qw u 	 (B) 	oSri 

(C) 	irtzmrrøi uqrfL4 	 (D) 	libi t 
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77. Name the Muslim ruler, who gave money for the construction of the image of Goddess 
Sarada in Sringeri Temple 

(A). Nizam Satatullakhan 	 (B) Nizam Siraj-Ud-Daula 

	

Tipu Sultan 	. 	 (D) Safdar Jang 

ir,I 6It 	 rrrr Qui 	 GUJ 	LDJU 	L5QUJ (9D1U6LD 

wQuuroi? 

(A) 	1rnb 	borr &ffi 	 , 	 (B) 	jrnb §1I7rr 	Qrrorr 

(C) 	Li 	orré  

78. The author of 'Gita Ragasya' 

(A) 	Mahatma Gandhi 	. 	 . (B) Jawaharlal Nehru 

Bal Gangadhar Tilak (D) Rabindranath Tagore 

'ffb' h1uJrruJrth? 

(A) 	wirwrr 8;ir (B) rrb Gpo 

(C) 	urr 	rJ9rrfr Owaft (D) rrr 	rrfr 

79. The solar constant at earth's surface is 

(A) 	1.4 watt/M2 (B) 14 watt/M2 

(C) 	140 watt/rn 2 	 .. 	 . 1400 watt/M2 

6;L&Uc 6 T CLfU61D 	UJ 	U6T LUlLJL W. 

(A) 	1.4 watt/M2 (B) 14 watt/m2 

(C), 	140 watt/M2 (D) 1400 watt/M2 

80. Davisson and Germer experiment relates to 

(A) 	Interference (Electron diffraction 

(C) 	Polarisation . (D) Flourescence 

i1a€sr QfrLOft Cr 	UdGiT 	 QiTGrrJ 

(A). 	jà( 	€rr 	 . 	(B) GTa)&Lryrr& €iibL 	r€ 

(C) poT 6cnowq 	 (D) 
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81. 	The British rule in India resulted in 

(i) Decline of Indian handicrafts and rural economy 

(ii) Introduction of new land system 

(iii) The process of industrial transition through colonial capitalism 

(iv) White revolution 

(A) (i) and (ii) are correct 

(B) (i) and (iv) are correct 

(i), (ii) and (iii) are correct 

(D) 	(ii), (iii) and (iv) are correct 

' L9- 	 irrb 	uj Qunrrrjo 	uL1j' 

(i) Qrro wb &IryrrLDLjLInD Quff 	ITrr 	o jutiL9&GUGnL—Gq  

(ii) LUJ Q) 	LDLJLI (D 

(iii) arrcoaotlui 	 rnb Qrro 	üuo 	ui 	wrrpib 

(iv) QQi6krGoLo6 qrfLA 

(A) (i) wth (ii) 

(B) (i) io5th (iv) 	rrru 

(C) (i), (ii) wjib (iii) 	iu 

(D) (ii), (iii) wjjib (iv) 

	

82. 	Which India's Five Year Plan had the basic objective of growth with Social Justice and 
Equality? 	 S  

(A) Third Five Year Plan 

(B) Fifth Five Year Plan 

Ninth Five Year Plan 

(D) Twelfth Five Year Plan 

1tGG 	r 	J5T® 	ILLLD " 9y ff1 LOW 5W)U1LT  4UJ 6uG1Trré1" rTu 

TjuJ 	Jut C 	urr 

(A) rr€uj 	rri3 	hLL-Lb 	 S  

(B) porrGugj 	oi9 	Lth 

(C) 9dTuprrGu§FWrrek  OLLL-Lb 

(D) uQit.rrujMPPrrMTW iib 
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83. 	Match the following 

Committee 

(a) Sachar Committee 

(b) Basel Committee 

(c) Abhijit Sen Committee 

(d) Abit Husain Committee 

(a) 	(b) 	(c) 	(d) 

(A) 1 	3 	4 	2 

(B) 2 	4 	3 	.1 

4e 1 	4 	3 	2 

(D) 2 	1 	4 	3 

Section 

1. Amendments in MRTP Act 

2. Small Scale Industries 

3. Long-term Food Policy 

4. Banking Supervision 

uj Quniij: 

(a) rrrrfr 

(b) Qu8o ( 

(c)  "41600 Q&dT 

(d) 46 	C6& (j(LJ 

(a) 	(b) (c) (d) 

(A) 1 	3 4 2 

(B) 2 	4 3 1 

(C) 1 	4. 3 2 

(D) 2 	1 4 3 

U9 61 G 
1. MRTP 5LL 	IT 
2. .j 

3. ro 	Qrrr 

4. _eff& &Gkrarrmfi~pQb *  

LIGS/19 	 32 



	

84. 	The matrix of blood is known as 

• 	 Plasma 

(B) Blood protein 

(C) RBC and WBC 
• 	 (D) WBC and Platelets 

CWLh) GTQTUU@Qj§j 

(A) flffGfl)Wff 

(B) iib 

(C) wib Qthr 

(D) Qu uth 

	

85. 	Sickle-cell anaemia is due to 

(A) Viruses Genes 

(C) Hormones 	 • 	 (D) Bacteria 

§1ào Q 	uff€h 	wirr 	iuj 

(A) uijñth 	 • 	 (B) wii 

(C) WrTftCwrr&&dT 	 (D) ujujrràth 

86. 	Endangered plant species are conserved through 

(A) Herbarium 

Invitro/Invivo 

(C) Gene bank 

(D) Reducing pollution 

Cuff(1b prreju 	in 	uurrnj uffrr&rrLb. 

(A) QuiSIud 

(B) @dTe&LCfyrT/ gaiTGOCeirr 

(C) &T cu 

(D) wtjuir 
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87. The process of transfer of genetic information from DNA to RNA is 

(A) Translocation 	 (B) Transversion 

Transcription 	 (D) Translation 

wi 	 rr DNArjj RNA e1 	wth Quj€b. 

(A) 	Lrf rrdTdu Q oxrGsQ~6*ff (B) 	QGufr€T 

(C) 	 (D) 	o 

88. The relationship among the specific conductance, resistance and the area of cross-section of 
an electrical conductor is 

(A) R=KA. 

(C) RA = K 	 (D) R = K/A 

Iuw La&640 &MdT ,  LT,6)L LO1h 	 uuir 	 ij 	rrr 

(A) RKA 	 (B) K=  1_ X_ 

(C) RA = K 	 (D) .1? = K/A 

89. Chemical name of aspirin is 

• 	(A) Ethyl salicylic acid 

(B) Benzoyl salicylic acid 

(C) Methyl salicylate 

#9' Acetyl salicylic acid 

W(b 1 GoT GQJOU Quuir 

(A) 

(B) Quwrruo 	 Soib. 

(C) Qwo &rrGMGGo L  

(D) 61ib 
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90: Who was the founder of Dakshina Bharath Hindi Prachar Sabha (DBHPS)? 

Mahatma Gandhi 	 (B) Jawaharlal Nehru 

(C) Sardar Vallabh Bhai Patel 	 (D) None of the above 

Q€T 	 00 611rr &rrurr6coaT Crr 	EUFF urrñ? 

(A) 	rrrr rr 	 .(B) 	 rrb C®. 

(C) 	rrñ 	ourrtii uio 	 (D) CLofr§ui GTgj Q1 iio 

91. What is the name of the new geological continent submerged beneath the pacific ocean? 

(A) Sealand 	 (B) Zealand 

Zealandia 	 (D) All of the above 

uáh 	 irr tu €iluujb 	i1 Quujft GTTGT? 

(A) 	rc3 	 (B) 	1Cor@ 

(C) 	 (D) 	 r qj cnmE§ib 

92. Who won the first Rajiv Gandhi Khel Ratna Award? 

(A) Virat Kohli 	 (B) P.V. Sindhu 

Viswanathan Anand 	 (D) Geet Sethi 

irr &p& p$)ü 	o fyEavr 	Qubn u? 

(A) 	G@ijrrL CaiTa 	 (B) 611.6. Aft  

(C) 6duQiprrp& 	 (D) 4 C 

93. Who is appointed as Director of the FBI in 2017? 

(A) Vincent Collin 	 1.100  Christopher Wray 

(C) Jacob Powell 	 (D) Edgar Hoover 

FBI-or urrr 2017-6b 	uC L-cuft ujrrir? 

(A) 	&rr 	 (B) 	CrrufrCçr 

(C) 	Cé 	 (D) GTL&ft io6ufr 
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94. Which is India's first digital village? 

(A) Dhasai 	 (' Akodara 

(C) 	Amirstar 	 (I)) Indore 

50UJff60 (p 	Li—Q) 	WW rj? 

(A) 	pff mo 	 (B) 	rrrr 

(C) 	 r 	 (D) 

95. When is the international Yoga day celebrated? 

21t June 	 (B) 31'11  October 

(C)• 15th  August 	 (D) 2511  January 

&ft" Cujrrrr prrdff Q 	ffLuu1b 06uLb rj? 

(A) 	21i 	 (B) 31ffufr 

(C) 	15&th 	 (D) 25r6uI') 

96. Which country is sharing minimum land border with India? 

(A) Bhutan 	 (B) Nepal 

(C) Bangladesh 	 Afghanistan 

	

€irrr o 	oujti ugftj§ Q 	rgjib (i3 Gr§? 

(A) 	yrr 	 (B) Cuniib 

(C) 	urirrrr Gp&Lb 	 (D) 

97. How many Dravidian languages are referred in Eighth Schedule of Indian Constitution? 

(A) 	2 	 (B).3 

4 	 (D) 5 

goui 	 owLjI 11rruj 	Loru10 Opcom cr& Qi 	ib Quthrri? 

(A) 	2 	 (B) 3 

(C) 	4 	 (D) 5 
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98. 	When does India observe its constitution day? 

(A) 	2611  January 	 (B) 261h  August 

26th November 	 (D) 2611  December 

UJ 	 wiJq 1ub riurrj Q ujj? 

(A) 	2661 	 (B) 26 

(C) 	26uthu 	 (D) 26tbuft 

	

99. 	What is the phrase that refers to the compensation offered to a CEO for the resignation in 
the event of a merger on take over? 

(A) Golden boot 

(B) Golden handcuffs 

(C) Golden umbrella• 

Golden Parachute 

6TTJT @GoamJ q 1D9]LO 	ULJU 	 6T Cuj, 	 urr 	1&rrrfi grTgaTraorr  

Q&brr 	iiuib 	iS - 	 jib Q 	Qjrnrft rj? 

(A) rrbi 

(B) iroi€in cc8:0n 

(C) brr 

(D) rrb 	urnjrrC 

100. India's first AICTE training and learning academy (ATAL) is to be setup in which city? 

Jaipur 	 (B) Thiruvananthapuram 

(C) Baroda 	 (D) Guwahati 

uji po AICTE uulbl wbb 	rrii6l 

(A) 	Qj 	 (B) 

(C) 	urrrr 	 (D) Qrr 
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6. You will also encode your Question Booklet 'Number with Blue or Black ink Ball point pen in the space 

provided on the side 2 of the Answer Sheet. 'If you do not encode properly or fail to encode the. above 
information, action will be taken as - per Commission's notification. 

7. Each question comprises four, responses (A), (B), (C) and (D). You are to select ONLY ONE correct 
• 	response and mark in your Answer Sheet. In case you feel that there are more than one correct 

response, mark the response which you consider the best. In any case, choose ONLY ONE response for 
each question. Your total marks will depend on the number of correct responses marked by you in the 
Answer Sheet. . 

8. In the Answer Sheet there are four circles .@ , ®, © and '© against each question. -: To answer the 
questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for 
each question. Select one response for each question in the Question Booklet and mark in the Answer 
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If 
for any item, ®'. is the correct answer, you have to mark as follows: 

9. . You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take 
this Question Booklet and the Answer Sheet out of the Examination . Hall during the time of 
examination. After the examination is concluded, you must hand over your Answer Sheet to the 
Invigilator. You are allowed to take the Question Booklet with you only after the Examination is over. 

10. Do not make any marking-in the question booklet except in the sheet before the last page of 
the question booklet, which can be used for rough work. This should be strictly adhered. 

11. In all matters and in cases of doubt, the English version is final. 
12. Applicants have to write and shade, the total number of answer fields left blank on the boxes provided 

at .side 2 of OMR Answer Sheet. An extra time of 5 minutes will be given to specify the number of 
answer fields left blank. . 	• 	 . 	 . 

13. Failure to comply with any of the above instructions will render you liable to such action or penalty as 
the Commission may decide at their discretion. 	 • 


